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1. If ab=0, then lim S05() equals
=0 cos(bx)

@a B ©F O g (E) none of these

2. If x=sin(xy), then j’ equals

1+ ycos(xy) B 1- ycos(xy) @ xcos(xy)
xcos(xy) xcos{xy) 1-ycos(xy)

1 (E) none of these
cos{xy)

(D)

3. The set of all numbers c in (0, 4) satisfying the conclusion of Rolle’s

theorem for the function f(x)=3x*-12x+11 on the interval [0, 4]

equals

A){2y @®{1}y {3y O){1,2} (E) none of these

4. The area bounded by y=xvx*-9, y=0,and x=5 equals

(A)21 (B) %ﬁ (€) 6_35- (D)22  (E) none of these

5. If f(x)=e" ,then f'(In(2)) equals

(A)2¢*  (B) (n2)e* (C) %ez (D) 2¢2  (E) none of these

[y caul
37 equals

o

(A) m% (B) 1n:§. (C)(n2)n3) (D) E% (E) none of these
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7. The series 14277 43712 £473 4. 4071 4.

(A) converges by the integral test

(B) diverges by comparisonto a, = 1
n

(C) converges by comparisonto a, = 1
n

(D) diverges by the integral test
(E) none of these

8. The interval of convergence of S=1-——+—">—--- 18

(A)(-4,4) (B)[-4,4) (C)(-4,4] (D)[-4,4] (E)none of these

9. The area of the region bounded by r =1-cosé 1is

(A) 3z (B) 37” (©) 37” () Z () none of these

10. The volume of the solid bounded by x*+y’=4 and x*+z°=1 is

(A) g (B) %9 (©) 33?- (D) %ﬁ (E) none of these
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1. Using the Definition of a Limit, show that }ll‘{la (2x+1)=-5.

2. Show that f(x) =+2x+1+2x is continuous at 3.

3. Evaluate f3 |— 3x + 6|dx

4. Find the area of the region bounded by the graphs of »* =-3x,

x—-y=4, y=-2, y=2,by means of a double integral.




